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EBA, B 200uL EBRE 96 FLIRF (EHIERD 8000rpm B

5min FELLEE) ., F 405nm EEL A B, AA=A MWE-A 8B (81

FEAM—-—TBEEXNR) .

[ 1] AA V1 150puL
T 60min V1 T
A 1 D
4 R i &H
1 y = 0.0249x - 0.0042 x PNP nmol y A
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PNP {nmal)

1nmol PNP

AE (nmol/min/g )=[( A+0.0042)=-0.0249]+(WxV1+V)+=TxD=13.4x( A+0.0042)

=-WxD
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1nmol PNP
AE (nmol/min/mg prot)=[( A+0.0042) <+ 0.0249] + (Cpr xV1)+TxD =134 x (
A+0.0042)+CprxD
4 /
104 1nmol PNP
AE (nmol/min/104 cell)=[( A+0.0042)+0.0249]+(500%V1+V)+TxD
=0.03%(AA+0.0042)xD
5
1nmol PNP

AE(nmol/min/mL)=[( A+0.0042)+0.0499]+V1+T=13.4%( A+0.0042)

W--- g V- 1mL

V1--- mL 0.lmL T--- 30 min

D--- 1 500---

Cpr--- mg/mL BCA

1 10pumol/mL EP 1.4ml

2 0, 0.04, 0.08, 0.12, 0.16, 0.2 pmol/ml
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